Задание №19, ОГЭ. Определение поясного времени. ОТВЕТЫ.
Вариант 1
Земля вращается на восток. Поэтому Новый год приходит с востока. 
1.Ответ: АВБ.
2.Ответ: БВА.
3.Ответ: АБВ.
4. Ответ: БАВ.
5.Ответ: БВА.
 6. Ответ: ВАБ.
 7.Ответ: АБВ.
 8. Ответ: ВАБ.
 9. Ответ: АВБ.
 10.Ответ: АБВ.
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Вариант 2
Земля вращается на восток. Поэтому Новый год приходит с востока.  
1.Ответ: БВА.
2.Ответ: БВА.
 3.Ответ: БВА.
 4.Ответ: БАВ. 
5.Ответ: АВБ. 
6. Ответ: АБВ. 
7. Ответ: ВБА. 
8. Ответ: ВБА.
9. Ответ: АБВ.
 10. Ответ: АВБ.
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Вариант 3
Земля вращается на восток. Поэтому Новый год приходит с востока.
1. Ответ: БВА. 
2. Ответ: АБВ.
3. Ответ: ВБА.
4. Ответ: ВАБ.
5. Ответ: ВАБ.
6. Ответ: ВАБ. 
7. Ответ: АВБ.
8. Ответ: АВБ.
9. Ответ: ВБА. 
10. Ответ: АВБ.


